

County Distribution Detail Report through 06/02/2021

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,169	1,873	13	3,055	\$3,818.75	\$122.25	\$3,696.50	0.70	\$2,587.55
							Entity Tota	ıl•	\$2,587.55
							Adjustmen		\$0.00
							Total Amo		\$2,587.55
Beadle							Total Amo	unt:	\$2,367.55
Deduic									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	3,441	10,257	352	14,050	\$17,562.50	\$374.54	\$17,187.96	0.70	\$12,031.57
							Entity Tota	ıl:	\$12,031.57
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$12,031.57
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	875	1,198	5	2,078	\$2,597.50	\$59.64	\$2,537.86	0.70	\$1,776.50
							Entity Tota	ıl:	\$1,776.50
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,776.50
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,751	3,919	14	5,684	\$7,105.00	\$142.94	\$6,962.06	0.70	\$4,873.44
							Entity Tota	ıl:	\$4,873.44
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,873.44

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	10,438	21,165	195	31,798	\$39,747.50	\$836.98	\$38,910.52	0.70	\$27,237.36
							Entity Tota	al:	\$27,237.36
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$27,237.36
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	8,840	25,874	548	35,262	\$44,077.50	\$949.57	\$43,127.93	0.70	\$30,189.55
							Entity Tota	al:	\$30,189.55
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$30,189.55
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,114	3,633	49	5,796	\$7,245.00	\$147.20	\$7,097.80	0.70	\$4,968.46
							Entity Tota	al:	\$4,968.46
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$4,968.46
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	539	449	3	991	\$1,238.75	\$26.03	\$1,212.72	0.70	\$848.90
							Entity Tota	al:	\$848.90
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$848.90
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,222	6,396	102	8,720	\$10,900.00	\$237.10	\$10,662.90	0.70	\$7,464.03
							Entity Tota	al:	\$7,464.03
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$7,464.03

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	646	1,372	11	2,029	\$2,536.25	\$52.50	\$2,483.75	0.70	\$1,738.63
							Entity Tota	al:	\$1,738.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,738.63
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,468	5,393	21	7,882	\$9,852.50	\$200.43	\$9,652.07	0.70	\$6,756.45
							Entity Tota	al:	\$6,756.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,756.45
City of Box Elder, M	eade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	42	2,784	113	2,939	\$3,673.75	\$90.19	\$3,583.56	0.70	\$2,508.49
							Entity Total	al:	\$2,508.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,508.49
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	615	2,689	117	3,421	\$4,276.25	\$101.41	\$4,174.84	0.70	\$2,922.39
							Entity Tota	al:	\$2,922.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,922.39
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,796	11,195	223	13,214	\$16,517.50	\$341.87	\$16,175.63	0.70	\$11,322.94
							Entity Total	al:	\$11,322.94
							Adjustmer	nt:	\$0.00

							Total Amou	ınt:	\$11,322.94
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	3,697	25,883	2,544	32,124	\$40,155.00	\$840.83	\$39,314.17	0.70	\$27,519.92
							Entity Tota	l:	\$27,519.92
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$27,519.92
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,228	2,220	34	3,482	\$4,352.50	\$89.86	\$4,262.64	0.70	\$2,983.85
							Entity Tota	l:	\$2,983.85
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,983.85
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,598	7,498	268	9,364	\$11,705.00	\$249.62	\$11,455.38	0.70	\$8,018.77
							Entity Tota	l:	\$8,018.77
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,018.77
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	6,622	18,617	763	26,002	\$32,502.50	\$687.61	\$31,814.89	0.70	\$22,270.42
							Entity Tota	l:	\$22,270.42
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$22,270.42
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

4/2021

1,025

679

290

1,994

\$2,492.50

\$51.22

\$2,441.28

Entity Total:

Percent

0.70

\$1,708.90

\$1,708.90

Adjustment:	\$0.00

	Total Ar	nount: \$1,708.90
Custer		

Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	3,118	5,730	153	9,001	\$11,251.25	\$259.49	\$10,991.76	0.70	\$7,694.23
							Entity Tota	ıl:	\$7,694.23
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,694.23
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	4,497	13,853	319	18,669	\$23,336.25	\$486.06	\$22,850.19	0.70	\$15,995.13
							Entity Tota	ıl:	\$15,995.13
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$15,995.13
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,845	3,429	31	5,305	\$6,631.25	\$135.15	\$6,496.10	0.70	\$4,547.27
							Entity Tota	ıl:	\$4,547.27
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,547.27
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,596	2,857	65	4,518	\$5,647.50	\$122.47	\$5,525.03	0.70	\$3,867.52
							Entity Tota	ıl:	\$3,867.52
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,867.52
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,122	2,111	9	3,242	\$4,052.50	\$84.44	\$3,968.06	0.70	\$2,777.64

							Entity Tota	ıl:	\$2,777.64
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,777.64
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,188	2,847	37	4,072	\$5,090.00	\$102.71	\$4,987.29	0.70	\$3,491.10
							Entity Tota	ıl:	\$3,491.10
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,491.10
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,787	4,526	22	7,335	\$9,168.75	\$187.87	\$8,980.88	0.70	\$6,286.62
							Entity Tota	ıl:	\$6,286.62
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,286.62
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	696	1,427	14	2,137	\$2,671.25	\$54.67	\$2,616.58	0.70	\$1,831.61
							Entity Tota	ıl:	\$1,831.61
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,831.61
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,899	5,230	37	7,166	\$8,957.50	\$182.45	\$8,775.05	0.70	\$6,142.54
							Entity Tota	ıl:	\$6,142.54
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,142.54
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

4/2021	1,566	3,489	5	5,060	\$6,325.00	\$140.14	\$6,184.86	0.70	\$4,329.40
							Entity Tota	l:	\$4,329.40
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,329.40
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	965	1,320	5	2,290	\$2,862.50	\$57.58	\$2,804.92	0.70	\$1,963.44
							Entity Tota	l:	\$1,963.44
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,963.44
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,489	3,665	26	5,180	\$6,475.00	\$130.22	\$6,344.78	0.70	\$4,441.35
							Entity Tota	l:	\$4,441.35
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,441.35
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	989	2,543	28	3,560	\$4,450.00	\$94.80	\$4,355.20	0.70	\$3,048.64
							Entity Tota	l:	\$3,048.64
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$3,048.64
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	798	3,022	34	3,854	\$4,817.50	\$99.01	\$4,718.49	0.70	\$3,302.94
							Entity Tota	l:	\$3,302.94
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$3,302.94
Harding									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2021	653	827	2	1,482	\$1,852.50	\$47.64	\$1,804.86	0.70	\$1,263.40	
							Entity Tot	al:	\$1,263.40	
							Adjustme	nt:	\$0.00	
							Total Amo	ount:	\$1,263.40	
Hughes										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2021	2,501	3,052	174	5,727	\$7,158.75	\$196.12	\$6,962.63	0.70	\$4,873.84	
							Entity Tot	al:	\$4,873.84	
							Adjustme	nt:	\$0.00	
							Total Amo	ount:	\$4,873.84	
Hutchinson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2021	2,688	5,067	54	7,809	\$9,761.25	\$211.29	\$9,549.96	0.70	\$6,684.97	
							Entity Tot	al:	\$6,684.97	
							Adjustme	nt:	\$0.00	
							Total Amo	ount:	\$6,684.97	
Hyde										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2021	569	1,042	4	1,615	\$2,018.75	\$40.97	\$1,977.78	0.70	\$1,384.45	
							Entity Tot	al:	\$1,384.45	
							Adjustme	nt:	\$0.00	
							Total Amo	ount:	\$1,384.45	
Jackson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2021	593	826	4	1,423	\$1,778.75	\$36.00	\$1,742.75	0.70	\$1,219.93	
							Entity Tot	al:	\$1,219.93	
									#0.00	
							Adjustme	nt:	\$0.00	

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	767	1,265	6	2,038	\$2,547.50	\$51.35	\$2,496.15	0.70	\$1,747.31
							Entity Tot	al:	\$1,747.31
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,747.31
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	502	638	5	1,145	\$1,431.25	\$28.88	\$1,402.37	0.70	\$981.66
							Entity Tot	al:	\$981.66
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$981.66
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,080	3,874	59	5,013	\$6,266.25	\$139.10	\$6,127.15	0.70	\$4,289.01
							Entity Tot	al:	\$4,289.01
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,289.01
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,512	8,865	91	11,468	\$14,335.00	\$294.24	\$14,040.76	0.70	\$9,828.53
							Entity Tot	al:	\$9,828.53
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$9,828.53
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	7,065	17,012	221	24,298	\$30,372.50	\$629.92	\$29,742.58	0.70	\$20,819.81
							Entity Tot	al:	\$20,819.81
							Adjustme	nt:	\$0.00

							Total Amount:		\$20,819.81
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	3,417	23,257	1,416	28,090	\$35,112.50	\$783.04	\$34,329.46	0.70	\$24,030.62
							Entity Tota	l:	\$24,030.62
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$24,030.62
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	993	1,752	281	3,026	\$3,782.50	\$83.69	\$3,698.81	0.70	\$2,589.17
							Entity Tota	l:	\$2,589.17
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,589.17
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,452	2,836	31	4,319	\$5,398.75	\$116.71	\$5,282.04	0.70	\$3,697.43
							Entity Tota	l:	\$3,697.43
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,697.43
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,916	4,179	17	6,112	\$7,640.00	\$154.76	\$7,485.24	0.70	\$5,239.67
							Entity Tota	l:	\$5,239.67
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,239.67
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	915	1,469	4	2,388	\$2,985.00	\$71.48	\$2,913.52	0.70	\$2,039.46
							Entity Tota	l:	\$2,039.46

Adjustment:	\$0.00				

Total Amount:	\$2,039.46
	v -,

Meade	
-------	--

Weade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	3,158	18,073	168	21,399	\$26,748.75	\$572.05	\$26,176.70	0.70	\$18,323.69
							Entity Tota	nl:	\$18,323.69
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$18,323.69
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	542	692	0	1,234	\$1,542.50	\$30.98	\$1,511.52	0.70	\$1,058.06
							Entity Tota	ıl:	\$1,058.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,058.06
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	932	1,571	27	2,530	\$3,162.50	\$65.89	\$3,096.61	0.70	\$2,167.63
							Entity Tota	ıl:	\$2,167.63
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$2,167.63
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	39,049	150,330	5,167	194,546	\$243,182.50	\$5,273.18	\$237,909.32	0.70	\$166,536.52
							Entity Tota	ıl:	\$166,536.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$166,536.52
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,143	4,531	62	5,736	\$7,170.00	\$146.31	\$7,023.69	0.70	\$4,916.58

							Entity Tot	al:	\$4,916.58
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,916.58
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	22,894	81,389	2,755	107,038	\$133,797.50	\$2,875.42	\$130,922.08	0.70	\$91,645.46
							Entity Tot	al:	\$91,645.46
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$91,645.46
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,657	2,227	11	3,895	\$4,868.75	\$108.05	\$4,760.70	0.70	\$3,332.49
							Entity Tot	al:	\$3,332.49
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,332.49
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,022	1,728	13	2,763	\$3,453.75	\$69.63	\$3,384.12	0.70	\$2,368.88
							Entity Tot	al:	\$2,368.88
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,368.88
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	3,131	5,087	16	8,234	\$10,292.50	\$227.82	\$10,064.68	0.70	\$7,045.28

Entity Total: \$7,045.28 Adjustment: \$0.00 **Total Amount:** \$7,045.28 Sanborn **Reporting Period Telecom Lines** Wireless Lines **VOIP Lines Total Lines** Surcharge Admin Fee **Net Surcharge** Entity **Entity Amount** Percent

4/2021	736	1,731	11	2,478	\$3,097.50	\$62.71	\$3,034.79	0.70	\$2,124.35
							Entity Total	l:	\$2,124.35
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$2,124.35
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,725	4,424	48	6,197	\$7,746.25	\$160.05	\$7,586.20	0.70	\$5,310.34
							Entity Total	l:	\$5,310.34
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$5,310.34
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	317	2,133	42	2,492	\$3,115.00	\$66.63	\$3,048.37	0.70	\$2,133.86
							Entity Total	l:	\$2,133.86
							Adjustment	::	\$0.00
							Total Amou	int:	\$2,133.86
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	568	1,137	5	1,710	\$2,137.50	\$43.28	\$2,094.22	0.70	\$1,465.95
							Entity Total	l:	\$1,465.95
							Adjustment	::	\$0.00
							Total Amou	int:	\$1,465.95
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	0	110	8	118	\$147.50	\$17.21	\$130.29	0.70	\$91.20
							Entity Total	l:	\$91.20
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$91.20
Tripp									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,186	3,969	32	6,187	\$7,733.75	\$157.78	\$7,575.97	0.70	\$5,303.18
							Entity Tota	al:	\$5,303.18
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,303.18
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,967	6,212	19	8,198	\$10,247.50	\$208.52	\$10,038.98	0.70	\$7,027.29
							Entity Tota	al:	\$7,027.29
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,027.29
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	2,592	11,037	579	14,208	\$17,760.00	\$449.45	\$17,310.55	0.70	\$12,117.39
							Entity Tota	al:	\$12,117.39
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,117.39
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	1,789	3,483	223	5,495	\$6,868.75	\$139.77	\$6,728.98	0.70	\$4,710.29
							Entity Tota	al:	\$4,710.29
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,710.29
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2021	4,716	15,960	460	21,136	\$26,420.00	\$553.42	\$25,866.58	0.70	\$18,106.61
							Entity Tota	al:	\$18,106.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$18,106.61

Totals 193,428 600,928 18,465 812,821 \$1,016,026.25 \$21,852.19 \$994,174.06